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STUDY CENTRE
TET PAPER - 11
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C. CLPGTMBTD Hlewev 6UEVIaYL L LD d. @euBmIeT eIgIa|le0m6V

In order to motivate children, a teacher offers some sweets for the completion of
each problem. This is a

a. Primary reinforcer b. Secondary reinforce

c. Tertiary reinforcer d. none of these.

. Qeoupplls Heflled MBS GWHmS eelalds CHamelenul 61HTCHTHEGSBSHI?

a. SIJEUMGHILIL| b. smind) erFlirunits 60

C. SlMLa deuTHIBTILY 2wy

A child who is more delighted with success, is possessing the need for
a. affection b. approval c. achievement d. security

. Al Heig sBLISH060 aflewenuim (B (eBenwl 2 BFTHUILIGSHIHINSD

a. Upeuwl 261d6@6 5 a6 b. oo 2aEGalshHe

C. SIMLAI 25 GH6]5HFH60 d.. ®aummien e1gle|levemev

A teacher who encourages the playway method in his teaching explores
a. Extrinsic motivation b. Intrinsic motivation

c. Achievement motivation d. none of these

. FAflwT Hergl UTL BLSHSHIHeVeT SH LD HuMhSHEHe0le0 LleiTeu(hHeueTeuBmIeT 61LD(LPeNB
CUTHSSLOTRISTE  SHSLILIGSBSHI?

a. Fups eumIalLcd (Lens b. syemem (Lpemy

C. SSHHTEH (YO[B d. miewreniley (W

What type of tests are most suitable for the teacher in planning his teaching
strategies?

a. Sociometric tests b. Personality tests

c. Creativity tests d. Intelligence tests
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C. FHMpHlene Wargk Gelmev WaTmd DUFHoHHD OCIFUISHE

d. smpBlenev &ID, HeaTaIeniTa] WD wHBEID Geflaney DD 66LEVT(PD @(HEHIGCH
LIGV(PL 6T E(HBGLD [Hlenev

An individual showing well adjusted personality is characterised by

a. well developed superego

b. well balanced ego

c. domination of id over superego

d. id, ego and superego are equally powerful.

6. Slgeomel UTLLUGHedW &BLISs udflwim ‘elmliuwter Sre GO Hener’
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a. pwety sHeuplldh HBHeL b. o5 BHameoulmishsse0
C. yoaism féb Hmmed d. smelgnt ouHs BaveoulBisHasd
A teacher tries to teach a complex idea with the help of some pleasant stimulus
and after repeated use of the situations, the students liked the subject. The theory
underlying this method is
a. Trial and Error learning b..Classical conditioning
c. Perceptual learning d. Operant conditioning

7. SITWILED - HIGVHIB UMBHIMBV 6HHeS CHT UM 19660 Hleneouwl(hHSLILIGSBSI?

a. 955 HaneoulHHHLD b. GmerdLmedl HmMmed

C. (pwery Haupled HMBeL d. smelsnt 9o HemeoulnishsLd
Stimulus-Reponse bond is established in

a. Classical conditioning b. Gestalt learning

c. Trial and Error learning d. Operant conditioning

8. @ILGBUUTLSHMS Oaupis@d Gwhomsulemer GhTomBUWTE SHhHSD (LPUILaISDI
a. CaupuBsHIHIHEL (s b. smalant Hs Baveoulpiss (Wpenm
C. ®BpHH6eL -BLBUUTL({H (Lpenm d. SewiB HBBeL (OB
A child who shows an aversion towards homework is to be corrected positively.
Which technique would you suggest?
a. Discrimination method b. Instrumental conditioning
c. Deconditioning method d. Relearning method

9. &levGunimgelt &L Lenwoli orgHifluler alenereyd HmyenllaelT 6leiner?
a. FbgdHHe0, IBeYFTT GFWeL WBMID SHTTeOIOBIHe0 (HTT6OID 666 H60)
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C. QFWe6UHMEVEH6IT, GFWEOLITHSH6T OBBID HI L (LpenBEH6I



10.

11.

12.

13.

www.kalvisolai.com
d. Gzweoun(Bser, OFWELBMELE6T BHBID CFwcLaMe6rTe)

What are the determinants of Guilford’s model of intellect?
a. Thinking, cognition and reasoning

b. Content, operation and product

c. Operation, process and systems

d. Process, operation and product

alewenwm B &Mibe alagumiseled HeldbHBeOCWTH alenhiGD GHWHeNHUIL LD
DIFHBOTS (UL

a. HHHSHWeL (BLID FMHS) HIewTewInse)]

b. QaTLT (LgPBenev) SHewild Hieweniniel

C. 2 160 - OFHTH 2 _6wIT [HiewIewinse)]

d. Upweis miewewnsey

A child who performs better in sports and games.is dominant with

a. Spatial intelligence b. Logical Mathematical intelligence

c. Bodily Kinesthetic intelligence d. Interpersonal intelligence

eTOeU(pFS ‘BTHMTerdlerd’ 6Tl

a. werbleupsd Geuellui®

b. werGaupFulesr QUITHETH M6V

C. LoBBeUTHeTaT aTOleu(pdFFlemud. LITHSHIOSTeiT6neD

d. wernwFAeow BHewismed 2 eTelheHd MalhHHe0
Emotional catharsis means

a. free release of emotional energy

b. spontaneous expression of emotions

c. sharing of other’s emotions

d. storing the emotions for a long time

‘efidgen oauTsefer Camlur®h GeualliLBHHID HHSHIB

a. 2 eniugliuruie] G um® b. weigaiwed Gsm ur®
c. afeyeuenigdlant Camur®h d. o _en& - Feps Gam ur®
Erickson’s theory explains the concept of

a. Psychoanalytic theory

b. Humanistic theory

c. Cognitive development theory

d. Psycho-social development theory

SIleyamt euenTFdd Camium@ @WhHmSUIeT 61he LIGHIL|EHmerT
WPSBSSIILBSHSISBSI?
a. (pAHTEd b. @eamisHed
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C. QPPBBLD d. supsTw @EWILTEH (FpSF FTTLELD)
Cognitive development theory emphasizes the characteristics of child’s
a. Maturation b. Identity

c. Morality d. Sociability

LOTEOOT6UTHGIIGN  (LP(LDEMLOWITEN  ([Blemmeunes) SeuanHendl! Gum  LlesTe(hHeveneui3miei
eTD(Lpemm  OILIT(HHSHID?

I. sremGOuTmefer OITHEH LOBBID 2 (Hausienmel &8 HflgEHe0

II. BemOFwed wWBBID UKD GFWEOLITL Qe 6UeSUIM3ISHSHIFH60

a. gapm (I) w' G sflwurars

b. apmiser (I) wspwd (II) sflwmersesvso

c. ammiser (I) wmpd (II) sfwnereneu

d. apm (D) sflwres

For capturing maximum attention of students, which of the following is
correct?

I. Intensity and size of the stimulus must be increased

II. Repetition and novelty should be emphasized

a. Only statement (I) is correct

b. Statements (I) and (II) are not correct

c. Both the statements (I) and (IL))are correct

d. Statement (II) is correct

LesTeu(HeUMMIGT 61! HEUGT 6UMSBMW! | FTITHSHI?

a. UpSH&HH SHeU6ILD

b. BuBenawrer @eaueid (CFuedes  HeieidHe0)

c. Gewmmaswner seueld (CFLGTEH SHeu6ldsH60)

d. uBGamBL Heued

Which of the following is not a type of attention?

a. Habitual attention b. Involuntary attention
c. Volitional attention d. Participatory attention

Lesteu(heueteummien o1& LBSHCHMmI (penpulledt S eugmgl?
a. WerGaFT LT LeLBeNe0 SEmewngd CaHiTey

b. Gynitervgns emwHL & GFTHeme

C. auTHFHWID Hlewme GFU15H60

d. QuImHeTBICauTH Bmenisam BFTHement

Which of the following is not a projective test?

a. Minnesota Multiphasic Personality inventory

b. Rorschach Ink blot test

c. Sentence completion test
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d. Thematic Apperception test

LOTEUOTTeUT AN U(HemBMW SleNbHMIW AT NevTeu(hHeueTeuBmIeT EID(LPEHMBENU
6D UITET6VMLD?

a. 76 Cmmed b. wuwmens uHGaub

c. QxfleyGasmed d. elemiiger (pews

To assess the absenteeism of students regularly, a teacher can use
a. rating scales b. cumulative record

c. check list d. questionnaire

BHMNBHHHe0 LIevalaIomer omewTteuT GomPl uTL $Hev FpbaH aleThiGHeagd ealals
L HDGHMW FT(HLD?

a. QEMIIGLITHEO (eITHIH60) b. FBOFUIHEO

C. SINID &HBLISHSH60 d. UBCasBHIBHD (UBSEBHHe0)

A child who is weak in mathematics, tries'to excel in language is using the
mechanism of

a. Identification b. Compensation

c. Retionalisation d. Projection

LOTEOTOUT H&AIH CFTHHL LIJFFmMILL T 2. MISHEN6T DIEDISHINT6D © HISH6N6T DIQLILIENL
QFweoun(® e1gHIUTS BU(HHEGLD?

a. UpFsenaiuller Smyenimigemnel  LgdSHTuldhe0

b. anfe®my UBTUMDT SEDIGS 6CFTLMIHE

Cc. UpFgemen (FobHe0)-20 FHTHIMS  (PYHGWD UD] STHH(HHBF OFU1%H60

d. auflam BGHed eUpEIGHHE

When a student approaches you with a personal problem, what initial strategy
will you provide?

a. Analyse the causes of the problem

b. Ask to consult a counselor

c. wait so that the problem can be solved by himself

d. Provide guidance

Ueteuhd GQUWITHEMED 6ToUT DigIGLGUT DOWl DIBleenJLl LISTHEN6V (LH6eiTemIshSieuT

a. fbewil Lgmui® b. auiammd wrerdGeor
C. ailleveSUILDg 6oT d. a&mited Gyrasiterd
Who put forward the client centred counseling?

a. Sigmund Freud b. Abraham Maslow
c. Williamson d. Carl Rogers

&H60al Sl el GbUBHBID GFWeOLITL I9enaT LisTal(heuaTeuBmIeT 6lhs (LPenMUllest
B UMBLILBHSHSH60TD?
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a. 9560ETHE (pens b. seflwrer ugliLmuie) (Wpenm

c. Gammemen (Lpomm d. o BuCETHEH6L (Pes

Which of the following methods will you use to study the effectiveness of
activity method in imporving academic performance?

a. Introspection method b. Case study method

c. Experimental method d. Observation method

‘devalulled o enailuied’ HLHmHmW Dialuled LTauors alend@eald

a. SOTRIETLI LBuD b. smiGuNT wBmIb SBEGLITT

c. walg BEID W([HS d. sBGuni w B

Educational psychology explains the scientific study of the behaviour of
a. all individuals b. teacher and learners

c. both human and animals d. learners only

ST 106l o me|penpder UBBu 2 sTailulsd Lifley

a. 9fleyamT o _enaiuied b. GamfeoFnr 2 enaiuied

C. (BB 2 6naiuled d. Fups 2_srailuwied

The branch of psychology that deals with interrelationships among individuals is
known as

a. Cognitive psychology b. Industrial psychology

c. Clinical psychology d.aSocial psychology

CBHTHHHBH6L (Wemmulledt SiglienL  auenT&dFled Gsmlum®b

a. 2 61 QU BB ald b. CQuTBSH a1

C. &(meir alg) d. Qurgiaumereneuuledmbal FpliLmeremel 6ld)
What is the basic principle of development applied in the inductive approach?
a. Principle of interrelation b. Principle of proximo-distal

c. Principle of spirality d. Principle of general to specific

. OIBleY&FTT euenT&FFL LHlenevdeilled GUBIUIL (B FoaUThsemen Lifihal 6&TeTEHD Henew

a. Levelwidhsd MHlenew b. GrweBeney (LevafLmer GFuied Hlenev)

C. (PBOFUWED Hlewev d. wwseswed mHenev

Which stage of cognitive development is suitable to teach the symbolic
representation of equations in science?

a. Sensori-motor stage b. Concrete - operational stage

c. Pre-operational stage d. Formal-operational stage

uTfiemey eulld SBGLD Tewieueny BHalT FhHbd GCBThHHTe, LlsaumeueateuBnIeT
THBMBMEV (LPOBMU DIITHEHDHEG OFHfey GFuIaiT?
a. WeOFmed (pewm (LBLG&Fmed (Lpemm) b. &b UDTLL FBIG6T
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When you are confronted with a visual learner, which learning method would
you suggest?

a. Recitation method b. Concept mapping

c. Association technique d. Gaming technique

B GWHMHH6T FHhIHeNSH GUBEBTENT UBBIW GHedBUTBHmeT LM
GuaHOEBTETEHHEL 6T61ICUMBMUI FTTHSHHI?

[. QuBGBTT YBLDSHE6TEnHH6L

II. Wssampbsd GbLU bET6)

III. sefenwi L QuBGTT

IV. QupGpmiler @igsll LTgIsTL

BeuBmiei:

a. SEAIGHHID Filwmerene b. (I), (1) wBgd-IV) sfwrereme

c. (I), D) wmpwd ) sflwmeensy d. eemeuwd SFMNWITETEMEULIEED

In one of the informal discussions in the classroom;, two children are identified

who are complaining about their parental conflicts. The problem associated with the
children is

28.

29.

I. Parental rejection

II. Poor family support

I1I. Isolated Parents

IV. Parental overprotection

Among these statements

a. All are correct b. (I), (III) and (IV) are correct
c. (I), (I) and (III) are correct d.-None of them is correct

eTOeu(pF S HlewTewiBleyL e OHTLTL 6T (P& GLwiT

a. G.W. geoBumii_ b. GLalwed GameLGILD6H
C. QameurT® STl 6ot d. ]J.P. &eoGunit

The chief exponent of emotional intelligence is

a. G.W. Allport b. Daniel Goleman

c¢. Howard Gardner d. J.P. Guilford

CoupiT(heHeT DIFHB(W6Ten au@GLiLienmuileed SyfuiT

a. @8y apempwimer SMLISHHmev GLoBO\BTeTENGeemI(HLD

b. Gwhbmsser Seuiselar almulig sBeE SgEIoSHdsiuL GauemiBLD

C. gFHMens GHWhmeHaiea Cohameusemner (WPHHWILGSHS, FgraMumCearmmss
BBLIHSH60

d. selwmem sBLISH0 (PedBHM6T LWGTLIBHHHIH60

In a diversified classroom, the teacher should
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a. use a single mode of teaching

b. permit the students to learn according to their willingness
c. highlight the needs of normal children and teach at the average level
d. use individualized learning strategies

30. sBmeL aumenCasTlh DHenen OleuellebaTl B
a. ammev OFweoLT(hHeNeT alevdHHMHSH GHBIHHETBSH
b. aBmed wenpulenen @GpisIBa
c. aBBunfler suenmHlensvenwids GHNESBSHI
d. euil G u_saBBed sSmyailow GBsIBEI
Learning curve depicts
a. Curve showing the deviations of learning process
b. Diagram representing the mode of learning of a group
c. Graph representing the learner’s progression with time
d. Symbolic map of factors of learning

ugg — L
S0P
31. sflwrneeuBenss CsHitey GFUIH:
a. &IT60T - BIJg
o (pewed - FmBLD
LDL_MRI&60 - o0l
61601 (&) - &b
b.  &mern -1 ()
o wemeu - LoV
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C. BHITE0T - &
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32. ‘@phHWT aSImID DSHLD
a. FHegh @sID b. ey s

C. HBIB6T BH(LPMD d. Hmset s

33. ‘CaML_BAIT G (Heven  eIaIBeSHBLILIBHMS)
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a. &Mlehd! -2, 8
(LPELEmED - 4, 14
LD(HSHLD - 6, 16
OBUISHE - 10, 20
b.  &ed - 10, 20
(LP6LGMGV - 6, 16
LD(HSLD -4, 14
OBUISH60 -2, 8
C. GMlehd -2, 8
(LP6LEMGV - 6, 16
LO(HSHLD - 10, 20
OPBUIH6E0 - 4, 14
d oied - 2,8
(LP6LGMGV - 10, 20
LD(HSLD -4, 14
OIBUISH6D - 6, 16
36. ‘LOEI(LPMMB HEWIL. UTFHID’ 61608 HT6VI6 @ dflui
a. GIGHUT b. wenieurssit
c. deuepmedr (Lpedileum d. “aueitemeomit
37. 8.9, 2010-3 FH(mHeuelTErheuyTesi(h oTeiml FnmIGeumib.
a. 2011 b. 2021 c. 2041 d. 2033
38. ‘Cymaiiord @ymioTeniggest” 6Tedim HITenev Gleuerlulll Leui
a. Qmg b. &l 196veyL c. m.e1F. GBaied d. «mBasmi

39. 1M1 TS SHLGILpEUT
a. s b & c. & d. o

40. ‘@Lmwenll Haewih SHer opFfuiT
a. FHeursyt b. wewt_eolmLT  C. afywompeieuT

41. ‘@lewtenty LOSHIORIGBET 6160 DML BLILIBLIGNHG
a. LIpmIG6IT b. elevmigssT  C. LBEUSEIT

42. ‘Coumpalshal’ CTGIBeNLSSLILBMIGS

d. o Geauar

d. @yndlsei



a. HmeuTFsLd

b. Gmeuryib

43, ‘FIFmEL ([HHe0 6IamilD 6lFTeD
a. BGIH QIPBEG
C. LDRIGB6L QUGG

b. e L1y eupsE
d. @epe & @B

44. gflwner allewLemwd CxHitey GFUIs:

a.

45. ‘s sCpH M 61U SHaNHILODE OFTLMEL 6T(LHSHISH:
b. aumeinQbHEIseuTeul

FhIHTTH HBHLD
FHEUTLITFGOILD
b5 SHalGBTHLD
FHBITHSSLD
FHVTLITFGILD
b5 S61CHTHLD
FhIHTTH HBHLD
FHEUTLITFGOILD
b5 SHailGBTHLD
FhIHTTH HBHLD
FHEVTLITFGOILD
b SHailGBTHLD

a. SImIGBUIME 6016w
C. HeTOB{HMISH6u0T6w0

46. HpHBHITUT GLoTenedr  LIUNTHI aUIHLD FTH6NT

a.2, 3, 4 b.1, 3, 4

- PSHIHGL
- LDGOOT (&ML
- QuUTBEML

LD6wT &b (&) 6mL
WPSSIHSML
QuTBGemL

- GuUTBEML

- LDGUOT) (&ML
- PHBHGMDL
- PSHBHGML
- OUTBGML

- L6 & EH6emL

d. UBIBUWIGS HemTenT

47. gflwner allewLemdwsd Gafle) CFuis:

d.

LDGHIN] SHITEWILLD
Gal 6D SHTERIL LD
&\ (HeUTELEUTU IS SHITEUITL_LD
LDSHIEN]  SHTCIL_LD
Fnl_60 &BITEOTL LD
SH(HEUTELEUTUISSTEOIL LD - 18 LIL6VLD
LDSHIEN]  SHTCIL_LD
Fnl_60 HITEOTL LD
SH(HEUTELATUISSTERIL D - 18 LIL 60D
LDSHIEND]  SHTCIL_LD
Fnl_60 BITEOTL LD
SH(HEUTELATUISSTERIL D - 18 LIL 60D

- 18 wuLevd
- 30 uLevd
- 16 uLevDd
- 16 uLevD
- 30 uLevDd

- 30 uLevD
- 16 uLevD

- 29 uULevD
- 16 uLevD

C. FH(HLoe»Mm

c.1, 2, 4
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d. mliurene

d.2, 4

48. ‘O mems WewL SHeil mevterteust - @&le0 Lulleiin aU(HD Siewfl

a. Hye0 [Hlenyuleoof

b. @e0UTmeT 2_suanioulent
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c. LInf\gIGTH&Hevenf d. GeuBmieniouiewnt
49. ‘@menod CamBmsHal 2Cauml euetiLTein

Aeovom@ T alBe_b Heombswp WwelseEnd ....0 GHTLTMLWS SHms

a. LDGUTEmTUIGD b. Qumuiwed ¢ sefiaiuied d. oemeiuied
50. ‘@_euagdh SHLOWDL LU (B Busbsd’ CHTIBES By 6uoTLOTeTaUT

a. LU&LT (1.6l b. &1.5. @hTEIFIDLHSH6

C. LT&LT O&%.0umis d. gmenev Benbdenyuies

51. 2 L ibuBOLoUT  6TesTLIGHT
a. 6L, o, b. ., ewr C. ul, el d 0, B

52. gilwmenr alewLenwsd BaiTe) GClguis:

a. ofed - ApGle
(LP6LEN6V - Gl
LO(HESLD - Guemi
LITen60 - GDIbL

b. ©lecd - @a
(LPELEM6VL - GuemiT
LD(HGLD - Spis
LITen60 - Gy

C. &nlehd - GuemT
(peOemeL - GDIDL
LD(HSLD - Gl
LIT6»60 - HmIso

d.  efeéd - Gmiby
pedemev - FABIGIY
LO(HSHLD - GuempT
LIT6M6V - @afl

53. ‘Gsevait Gd6eveVT LIY&HSH UeiTeMullesr G
a. amliFererd Lieier b. evLmideTerd LeiTerf
C. Quirdaterd wUeiTerl d. ed@BeuTerd UeiTer

54. HFHHOUD, BHHGHIHWD, CHmewild, GhHHD - Beve BbHFH elevmlendF &L (HLb
a. Wmenet b. @dHey C. 1o7(H d. wmer

55. ‘pb©&° eI eeng BUID GaTewNi(h LITL60 SUIBB 6U606V6T
a. umygwm b. umupTsd Heuest
C. &HIHMHS UMIH d. unysTFe

56. m1HBH60 6J6hFGe0T eTeTLIOT FBHSH
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a. &b b. um_ai c. M d. plgsi
57. QLOUISERILTET LSHDHBEF FTene0 @eU(HL T OIGHTLTLENL WG]
a. SIS b. #5episd  c. ae 4 d. sdsen
58. eI SFH60 HewL GuBB HBUIGUTTed FHlebemeowlmy aueiTefluibenLD
6B HTCITIT
a. BGTameeroLITa b. eaumebdervyerdL
C. YLmGuerdr d. engesr wumitd
59. pleiip Fileir ABBeNFUD, u(HD FHT (LPHEVENFUILD eTeuTLILI(BLD
a. IHIMD b. eui c. Gurener d. senen

60. ‘@ _1bugnT ug)’ 616l DIMLPSHSLILIBLIGUT
a. @hayer b. sphdyes C. @fuent d. mTysT

PART - III
ENGLISH

61. The aim of teaching poetry is
a. to help pupils to write poems
b. to help pupils to enjoy reading the poems
c. to help pupils only to learn poems by heart
d. to write the poems in their notebooks

62. The teacher of English uses “pair - work’ in the classroom to
a. improve pupils knowledge
b. improve the teacher’s teaching
c. improve pupils communication skills
d. improve the teacher’s English

63. Which is not a quality of “good handwriting’?
a. Legibility b. Distinctiveness
c. Spacing d. Absence of uniformity in the size of the letters

64. Reading a passage from the Supplementary Reader for enjoyment and expansion
of information is called
a. Silent Reading b. Intensive Reading
c. Extensive Reading d. Self Reading
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65. Identify the correct characteristic:

If a test measures what it intends to measure, then it is one of the characteristics
of a good test

a. Practicability b. Reliability
c. Scorability d. Validity
66. Remedial teaching involves
a. teaching and testing b. testing continuously
c. teaching, testing and reteaching d. teaching, difficult topics

67. Identify the correct Passive voice for the given sentence
People believe he has cheated the government
a. He has cheated the government is believed by people
b. He has cheated the government is believed
c. It is believed that he has cheated the government
d. It is believed that he has cheated the government

68. Identify the adjective form of the word “honout’
a. honourable b. honest
c. honesty d. honorarium

69. Arrange the following sentence jumbled words in the right order to from a
meaningful sentence
That / remember / always./ become / can / you / thinking / by / big / big
a. Remember always that by thinking you can become big
b. By thinking big you become big that can remember always
c. Always remember that you can become big by thinking big
d. Always become big by thinking big that you can remember

70. Identify the correct comparative form of the given sentence
Chennai is one of the largest cities in India
a. Chennai is large than most other cities in India
b. Chennai is larger than most other cities in India
c. Chennai is not larger than most other cities in India
d. Chennai is as large as most other cities in India

71. Identify the correct compound word that contains “Verb + Noun’
a. popcorn b. overthrow c. safeguard d. lifelong
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72. The figure of speech that attributes life to inanimate objects or abstract qualities

73.

74.

75.

76.

1S

a. Metaphor b. Personification
c. smile d. alliteration
Choose the correct sentence pattern of the given sentence

Reading made him a complete man

a.5+V+0+C b.S+V +10+ DO
c.S+V+A d.S+V+0O
Identify the simple sentence for the given compound sentence

I broke my ankle in a football match and had to go to hospital

a. I had to go to hospital, because I broke my ankle in a football match
b. I broke my ankle in a football match, sol had to go to hospital

c. I had to go to hospital, so I broke my ankle in a football match

d. Having broken my ankle in a football match, I'had to go to hospital

Identify the correct “anagram’

a. meet - meat b. knew - no

c. melon - lemon d. pun - fun
Identify the correct alphabetical order of the words in the box

Recession, receipt, recipient, recital, recapture

a. receipt, recital, recession, recapture, recipient
b. recipient, recession, recital, recapture, receipt
c. recital, recapture, recession, receipt

d. recapture, receipt, recession, recital

(Q. Nos. 77 to 80)

Read the passage with blanks numbered. For each numbered four options are
given after the passage. Identify the word to fill in each blank.

The young and the upwardly mobile generation of today has (77)
aspirations (78) little patience. If the youngsters want a smartphone or an
ipad, they usually don’t think much before spending (79) such gadgets.

Sometimes such spending involves taking a personal loan or using the
credit card and repaying (80) debt over the next few months or even a year
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77.a. low b. one c. high d. no
78.a. and b. but c. or d. of
79. a. of b.in c. at d. on
80. a. the b. an c.a d. some

81. How many sentences can be combined correctly without changing the meaning?
Raman has to complete his homework. He can’t go out
The correct combination of sentence is
a. If Raman has to complete his homework, he can’t go out
b. Raman has completed his homework until after he can’t go out
c. Until after Raman has completed his homework, he can’t go out
d. Until Raman has completed his homework after, he can’t go out

82. Identify the correct word to fill in the given blank
If 1 rich, I would help the poor
a.am b. were C.is d. was

83. Identify the reported form of the given sentence
My friend said, “You must accept this gift”
a. my friend asked that I mustaccept that gift
b. My friend said that youmust accept that gift
c. My friend requested that ' must accept this gift
d. My friend insisted that I must accept that gift

84. A personal letter could contain
a. three paragraph only b. two paragraphs only
c. any number of paragraphs d. one paragraph only

85. Identify the sentence that is grammatically correct
a. He invited us to spend a few days with him
b. He invited us to stay a few days with him
c. He invited us a few days to stay with him
d. He invited us a few days to spend with him

86. Choose the correct a word to fill in the given blank
Either Nila or Mala present today
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a.is b. are C. were d. was

87. Identify the correct phonemic transcription for ‘germinate’

a. /’dzemlnlet / b./‘dze:mlInelt/
c. / ‘germlnelt / d. / ‘jermInelt /
88. The words ‘need’, ‘dare” and “use to” are
a. auxiliaries b. models
c. marginal modals d. modal auxiliaries

89. What does the following sentence mean?
Gandhiji loved to be up with the lark
a. Gandhiji woke up early in the morning
b. Gandhiji was punctual
c. Gandhiji went to bed early at night
d. Gandhiji did not wake up early in the morning

90. Choose the right question tag
We put some money in the blank last week ?
a.aren’t we b. don’t we c. didn't we d. do we

iv.a.MATHS AND SCIENCE

91. The chemical messenger secreted by less number of cells in endocrine part of
pancreas is

a. Insulin b. Glucose c. Glucagon d. Glycogen

SIS Hler,  Brembeveomr — UGHUI,  GHeOMeUTel  cTewienlHenHUled 2 6lTeN
CFevmallell(hhgl FTSaLILBL Geougdl srgieaufer GLuIT

a. Beind6eden b. ®epEG8smerd  C. G 6EhbHBTE d. denenaCamreyest

92.‘Mule’ is an example of
a. mechanical isolation b. gametic isolation
c. ecological isolation d. post-zygotic isolation
CamBoumpl H(WMH (DLJLH) SPEHBMILUBBIET THBE TBHSHHIHSTLLTGLD?
a. CHHTHSHIOTE FHeTenLOLILIBHGHSHIH60
b. 8150560 FHNMOLILIGHSHIH60
C. GUYWed HelenlolILi(HSHHISH6e0
d. smuwloL 2 HansssHBE L6 seafleliubesgen

93. The BMI of a person with a height of 6 feet is 21.6. His body weight in kilogram



94.

95.

9.

97.

98.
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a.”70 b. 90 c. 60 d. 100

6 9l 2 WyeTen (h LelFHelel o L BuUmLS GBIUIG (esneg) 21.6 eeled, Sieufler
aTemLenul &HBeordlymidled Hewt(BLIG

a.70 b. 90 c. 60 d. 100

The invention of Dr. Ananda Mohan Chakraborty is associated with

a. Bio-magnification b. Bio-remediation

c. Bio-sonar d. Bio-control

Dr. syebg Guomset FoHyuTshHulet HemiBLiigln] @&GaImE OHTLTLemL Uig)
a. 2 ulimo OLHEBHIDEML &H6D b. o _ulmp wmFyresbD

c. o uimo g6l d. 2 _uimo &L GUUT@H

During mitotic phase of meiosis, the number of cells formed from each daughter
cell is

a.2 b. 4 c.3 d.6
Owrdlerd  QFed  LIfigedlent  enol LTdlerd  Hlewevudey, geuGeurm Gsul  OFe06Vle(HbHIE
o (HUTHGID OF60DH6MN60T 6Teu0T6ml M SH

a.2 b. 4 c.3 d. 6

Identify the correct form of food chain:
a. Grass — insects <> frog <> ‘snake
b. Insects — frog — snake — eagle
c. Grass — snake — rat

d. Plants — rat —owl
gllwrenr o _ewiey Fmislelenul GUBIILIGS:

e — UFFH6T > HeUenell <> UMD
UFFBH6T — Heuewern — LIMDL — LI(HHS
LJeO — LMbL] — 6160

SHTOUTRIGHET — 6160 — DYHMSD

an o

The parts of plant best suited for maintaining heterosis through generations are
a. flowers, fruits, roots b. roots, leaves, stems

c. stems, fruits, roots d. roots, stems, flowers

STUTHHA 6bdH LGHWlar cpeold WaFHABHS (Wwempulled GCamL rmdlerd Hmev(LPens
HMEV(LMBUWITS Hlenev BHMISHHUILIGSBSHI?

a. LDGUT&6IT, LIPHIGET, GeuTsel b. Bautmel, Bemevdeil, Hewi(H
C. HWI{B, LIPEIG6T, GauThel d. Geourselt, HeWiH, LOGVTHGI
BOD is not the result of

a. death of terrestrial animals b. algal bloom
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c. increase in organic matter in water bodies d. eutrophication

BOD eianiid Blsbay 6t OHTLT BB

BleVSHSHeL 2 6ol allevmiGHH6T ML

DEVBTHOMEGT DILTHSH DML (DLEOBTHSHEIT LIeTHLD)
BT HeMevH6N60 HMPFFHHI DI BMHH6e0

BT Blevevaeiled ubdlegen Gmmsev (eutrophication)

@ o

99. Chemical alarm signals released by an injured tissue are
a. Thymulins b. Ampicillins
c. Prostaglandins d. Norepinephrines
sTbUL L Hadsailelphba OCeuelCGumpid Gougl aFsfodame GuT(mel
a. 3 (Lpedent b. sy dedest
C. UGymerOLmelemmesTig 65t d. mrrenOmLiesr

100. Plants grow like bushes, when gardeners cut the shoot tips. This is due to
a. removal of gibberellins present both in apical and lateral root tips
b. removal of auxins present in apicaldouds
c. removal of cytokinins present in apical shoots
d. removal of auxins present in lateral buds
SHTUTHFHe0N96T BHIDIILIGH W BHHGSLOUTIDSH DISHITEUILD SHleneTdhdl 6U6T(HI6IMBEOI.
SDISHMBSHITET  SHITJ6E0TLD
a. Geufler mellu@s (opmed weEsCauflear meluled o e6iten  LIFeVleTH6T
bHBILBSH6L
b. miel GLOTL 1960 2 _6iTenn OLEBENIBIB6T [HEBLILIBISHT6L
C. FHewngerl HINUIeD enFL-CLTendealer HEHSLILIBHISHTED
d. uss G Hoefed 2 _e6Ten Y HEIGIHET [5bHLILIBIHTCEO

101. The number of moles of solute per kg of solvent is called
a. Molariy b. Normality c. Mole fraction d. Molality
R SHCeunadImbd HenJliLTeNed HenJhalenen HmFouThefer GLoTeLH6T60T  6l6wTeuNdhMH
a. GuomeomL i b. mrmomediig c. Gmed LevTeoNDd d. Gomeomediig
102. Which among the following has the lowest first ionization energy?
a. Mg b.O c.F d. Na
BemeusaTed BHGHMBBHS (PHEVTD HJUWINLTSGHD HBBeneV OILIMBIETEN SHND 61517
a. Mg b.O c.F d. Na
103. An alloy used in manufacturing Aircraft parts is
a. Solder b. Brass c. Duralumin d. Bronze

alremiseiar o gSifuTemnser SHwmfeds LweUBh 2 Gsors Hevemeu 61g5i?
a. FmeoLfT b. vgmHmen C. 1QULTTSIEVILO6HT d. Geuemraevid
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104. According to Fajan’s rule polarization is high with
a. Small cation and small anion ~ b. small cation and large anion
c. large cation and large anion d. large cation and small anion

S Buggreflest  allgllg  eTeuHeuaeuBmled  61FH DIHB (PO BISHHID  FHmenedt
CUBBIHESGLD?

e. dplw CrpT Swell wBpID FBw 6IHT w6l

f. dAPw GpT Swel wBpId Uil AT e

g. Quflw GpT wBpd Quilw et e

h. Guflw GpT wBpId FPw T e

105. The IUPAC name of CH,-CH,-CH,-C(CH,),-OH is
a. 1, 1 dimethyl-1-butanol b. dimethyl butyl alcohol
c. 2-methyl-2-pentanol d. 2-hydroxy-2-metyl pentane

CH,-CH,-CH,-C(CH,),—OH &&aiB cpeoddmplesr TUPAC @Quuwir
a. 1, 1 eoLGgdHeo-1-ul Lemmed b. eLOwHEHsd HuLLen 60 SL60HAMBT6D

C. 2-Qnd&60-2-CILIGHTL 6vT60 d. 2-wami.grshdl-2-0insHdHed GLeTEL 66t
106. A light year is the unit of
a. acceleration b. distance c. speed d. time
6l SLewI(B 6T THET DIVE)
a. (WH&BBID b. QsTenevey c. Geousld d. &mevid
107. The heart is pumping blood at x kg per unit time wit constant velocity. The
force needed is
a. xv b, X c. Y& d. zero
dt dt

BTy HwgFbasdhdlev, WD @B oG CBIsHHeL, X &H&. AIsHHHHDH
GeouelCwmBpIsBa eelled, ChHemeuliBL alemng

a. xv b. xdv C. vdx d. s
dt dt
108. Which of the following bodies have the largest kinetic energy?
a. Mass 4 m and speed v b. Mass 3 m and speed 2v
c. Mass 2 m and speed 3v d. Mass m and speed 4v

Weteud QUTHL Heifled a1HeT BUISHd DMBeL DIFHHD?
a. 4 m pewpwb, v Geuspld O&mewIL  GUT(HeI
b. 3 m Benpuyd, 2 v Geuspld OHTERIL  GULIT(HET
c. 2 m peopuyb, 3v Geuspld OHmewiL GLITHeIT
d. m deopub, 4 v Geus(pd Obmewi GLITH6IT
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109. Pressure at a point inside the liquid does not depend upon
a. the depth of the point below the surface of the liquid
b. the nature of the liquid
c. the acceleration due to gravity at that point
d. the shape of the container
FreudbHaiel @ LeTaiulled SIS LleeuheuateuBBeT &Hmald STThaTmg?

a. oyeTaiuledl(pbad SHFeushalen Sy b. FHyeusbdlen Hestenio
c. onigereiuied yelufmig (pBSHHD d. seveler augeuld
110. Find the odd one out:
a. Silver b. Cotton c. Salt water d. Human body
CUTBBSTHMBDDBS CHHESH:
a. Geveierl b. umHH C. 2 (bHBHmIgeD d. weils 2 Le

111. The Value Of (67.542) _(32'458) 1S
75.458 —40.374
a. 1 b. 10 c. 100 d. 1000
(67.542) —(32458 i,
75.458 —40.374
a. 1 b. 10 c..100 d. 1000

13)’ +(7)°
(13)*+(7)* —x
a.6 b. 20 e 91 d. 31

(13)° +(7)’
(13)* +(7)* —x
a. 6 b. 20 c. 91 d. 31

112. =20 then xis

=20 6Teoll60 X-631 LD

113. The product of two numbers is 45 and the sum of their squares is 106. The
numbers are
a.3and 5 b.5and 9 c.5and 19 d.45and 1
Breni® elewiseNen OLI(HGHIMUIGVET 45 WBMID Dieneudbeilal auTHIRIS6MT FBHe0 106.
Db 61601 H6N
a. 3 By 5 b. 5 wBmb 9 ¢ 5 wBpwd 19 d. 45 wBpD 1

114. If x=5+26, then x-1 is
X

a. V2 b. 242 c. 3 d. 243
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x=5+2/6, aiailed T — &t &I

a. 2 b. 242 c. 3 d. 23

Question Wrong; correct question is
If x=5+2v6, then 2! is

Jx
Ans: 2.2
Explanation:
x—1=4+2J6 =22+/6)=22 (2 ++/3)
x=5+2\/€,
x=3+2+26
= (3) +(2)’ + 2342
=(3++2)’
(x=1) _2v2(2+3)
T Bl =22

115. A scored 30% marks and failed by 15 marks. B scored 40% marks and
obtained 35 marks more than that required to pass. The pass percentage is
a.45% b. 40% c. 35% d. 33%
A aeeut  30%  wHUCUEmISHET . QUBBLI 15 WHIOUEEIHET  (GHemmalerTed
Camevalwmmnt. B eemieut . 40%  HMiQuemidset GuBD SeuTser BxHTFS G

Gouemrigu! LG IGLIGTIEDeIAIL. 35, DI ICILIEHTSET HHHLOTS CUBMITT. 6TeNed Di6uTaH61T60T
CxT&d alpdhan(y

a.45% b. 40% c..35% d. 33%

116. The unit’s digit in (264)'” +(264)'*is
a.0 b. 2 c. 4 d.6
(264)'” +(264)'” DT QEBTOUSH B60HSH 616N
a.0 b.2 c.4 d.6

117. Two-third of a consignment was sold at a profit of 5% and the remaining at
a loss of 2%. If the total profit was Rs.400, then the value of the consignment was
a. Rs.10,000 b. Rs.12,000 c. Rs.15,000 d. Rs.20,000

% umlg gmoteiser 5%  @eomusFeid, 158 2% BLLSHID  eBBILGS EBeT.

QreHs Beomud h.400 a6y, OLOTSHEH FTIOTeTH6 6 DS
a. ¢p.10,000 b. ¢5.12,000 C. 5.15,000 d ¢m5.20,000
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118. The ratio of three numbers is 3 : 4 : 5 and the sum of their squares is 1250.
The sum of the three numbers is
a. 30 b. 50 c. 60 d. 90

(PAIBI 6T6WIHB6T 3 : 4 : 5 aaB alSHHBHED 2 66Nl DIENeUS6ITET 6T BRISH6N 60T
FBH6L 1250 eeafled, Db LIl 6TwIH6MN6ET Fn(HFH60

a. 30 b. 50 c. 60 d. 90
119. In how many years will a sum of money treble itself at 5% CI payable
annually?
a.22 b. 221 c.23 d. 232
2 2

PH OIF0 D% &G ey aFHHH0 @ILUULLTE, DiFH  6T6IaI6Te]  BTEVHIH60
CLPETMI  LOL_MRIST(GHLD?

1 1

a.22 b. 22— c.23 d. 23—
2 2
120. The perimeter of a circle is equal to the perimeter of a square. Then, their
areas are in the ratio
a.4:1 b.11:7 c. 14911 d.22:7
RH QUL SIS SMMENE], (h FHTHHN FMBeIalBG Wb 6alled OIH6T LTl Herer
A& Hd
a.4:1 b.11:7 c.14 :11 d.22:7
121. In peripheralnervous system, the majority nerves are of type.
a. motor b. sensory c. mixed d. afferent
Um BIbYS OSHT@Led, QU(HIDLMeLTEI BIWDLS6T DbHH UMSMWEF FTThHDI
a. DWHE b. o_ewrir C. &6ULIL d. o I GFevauid
122. A man in the habit of consuming antibiotics indiscriminately is likely to
suffer from the deficiency of
a. Vitamin E and D b. Vitamin K
c. Carbohydrates d. Fats

SHWICIPIY SHHEIOTS  THIT 2 ulflenwl e1BHSHHISOBTETEHLD LIPSHESL06TeN  @(F  LOHemISS,
oh® emeUL L L0 (GHMBUTLIgenTed LTI emuBLD?

a. enaul Liflest E wommid D b. enau’ Lidlesr K

c. smBurenaml Gyl (Habeir d. Qasmapriy

123. Identify the right path of blood flow among the chambers of human heart,
when blood comes from various parts of the body.
I. Left auricle II. Right auricle
III. Right ventricle IV. Left ventricle.
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Of these:
a.L I, III, IV b.L I, 11, IV c. I IV, I, 1 d.IL III, I, IV

o Ledel(pbad OupliuBl @IHSHIET BB DOBHEHSGHF OFeosud  Fifluimer
UTenGHemW  SHewrLMl:

I. 8La sfiadler II. auevg oyflddlel
II. euevg QeuewilMaalelt IV. @ g Oeuswilfabalel
a. L 1L III, IV b. L IIL, II, IV c. IL IV, 111, 1 d. I, IIL, I, Iv
124. Curriculum is a tool in the hands of the artist to mould his material
according to his ideal in his studio. “ This is the definition of
a. Kearney and Cook b. Alexander and Seylor
c. K.G. Sayidan d. Cunningham

‘BMVSHFHILLD GIABILFH  R(H  HMeLEh  mBUTeL o 6ol @(h  HHAIL  GuUTEIBI,

MG MDD DlAUET  HRIHBHMSH [HMIHBLILIG T AgAIMIDSS  (PIQUD.”  BbHS
GUEMTLIENBENW!  6U(GHGHSHEUIT

a. Gaflesr BEWID & b. 9i0evdhFTemr i BB CFuIe0T
c. KG. evagLen d. seeimamBD
125. A good example for projected teaching aid is
a. Realia b. Posters c. OHP d. Peg board
ULSST F aBme0 SBLIGHH H(HaldHE IhHHIHHTL(H
a. BQummert b. &euGymiig
C. meBibed LIl 6fp&d) d. @&ard uvms
126. Which is not a feature of ‘Cell Doctrine’?

a. All organisms are made up of cells

b. New cells are formed from old cells

c. All the cells are‘basically of the same shape and size

d. Hereditary information is passed from cell to cell, during cell division.
61F OF60BHTL LT 196 HIDFID HI6L6V?
SIMHH 2 UNTHEHD OFeLH6NTE0 LETN6
gmHeiBeu o _sitenn OFeLHeMed(HHAHI LSHWw CFe0seT BCamermideiment
SIMTHFH OFe0HEHID SlglILIHLUT60 DIEHLOLILTEVD, DieTalleVd HHema
Cgeou@Uler  OuTwa @b F60eled(mHbas  BEBTMH  CFevellE WYL
LIGRTLSH6T S SHSHLILIBHS 6ImeoT.

an oe

127. On the label of a soft drink bottle, it is written that the liquid content is
‘isotonic’. It means
a. the concentration of the liquid content is equal to that of fluids in our
cells
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b. the liquid enters into our cells

c. theliquid does harm to our cells

d. the liquid absorbs water from our cells
Gefitumer  um igeder @UBhFFlped (Label) ‘x@anBLreafs’ 6o  @mldbsliLl Betengi.
Bger Om(mel

a. GelutersgdHer FHyau  SILTHHUD, [BOH 2 Ledled o 6iten  OFe0H6 60

SHIuSHHAT QUULTSHHUID FLoBleneouled 2 6ol
GoMiTuTer FHyeud HLOG Fe0H6M60 2 L' LG
GoMiTuTe FHyeud © L Vi@ 2w alenenalldh@Ld
GoeMiTuTenr FHyeud B 2 L edlaleiien Fe0s6Me0 HeushdHenet © slehdild

an o

128. Determination of age of a tree by counting the annual ring is
a. Gerontology b. Phytogeronotology
c. Dendrochronology d. Pathology

P WISHHGT  AULDDH DBET  UWB  eleneuIbiBeTen  elewienllBmEBmul  MmalHS
SHENILBl6Ug]

a. Ogyei_meved b. . .eoul GLTOre6 Teves)
c. Qe GymaGrmeammevgs) d. Gusmmevs)
129. A student of class XI has observed the venation, phyllotaxy and

inflorescence in plants at microlevel and enjoyed a lot with the beauty and
diversity in them. The value developed in the student is

a. moral b. aesthetic c. cultural d. creative

XI b eu@liy LoTewieuedl, STAITSHSHET HIWDLUMER|, EemeLUIMIDe], LOBBID  LDEha U6t
AUMBHNGT  DIPSleneD, CoumILm 9emeTuld Sl BIHSHHET  alenere], SieUanIenL Ul
erdHled GHmeirmlwigi

a. pg Gurmemen b. yremen
C. [BBLIwIL] d. aus&HSme
130. On classifying the tools and techniques of evaluation, a good self-reporting
technique is
a. interview b. observation c. aptitude test d. check list
S HIT 9BETer FBhH SmHal WwBBID (Wevs
a. GpiTsmenTed b. o BBGHTEHDHM
C. FmeorsHe0 d. eflummig uliguied
131. Which of the following is optically active?
a. Succinic acid b. Lactic acid
c. Propionic acid d. Chloroacetic acid

LNevTeu(heUeToUBMET c6rl SHIOBMID Heitenlo CLIBBSHI 6157
a. g&felds odevd b. ks Sbevd
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c. yGrmuiGumefs oudeod  d. &GemGBym SIFLI19E Siblevld

132. Homolytic fission of C - C bond leads to
a. free radicals b. carbocation
c. carbanions d. hydrocarbons
C-C denewitionLl s 1T6mHHe0m60 o (HauTalgd) 61g)?
a. s 2_mIiEei b. a&mituer GrT e
C. SMTU6T eTglyule d. ewami GyranTueismer
133. In an adiabatic process

a. the system exchanges heat with surroundings
b. pressure is maintained constant
c. there is perfect heat insulation

d. volume is maintained constant
Q@ GeuliuommrTs  OFueOLPeMBUTED

a. gEWILIBGL SBBILIUBSHBSWmLGW Geuuufior@ph Bie b
b. ©IpsHsD WOIBTHHESID
C. Geulid &L HSHULGMSH60em60
d. serelene] WIBTHHHEGWD
134. Quantity of electricity -transported in one second by a current of one
ampere is
a. volt b:energy c. coulomb d. mhos

R owT  aGeammir @b  aleimy GCBIHFHed OFassHLLb Gurg  gBUGBLD
LG L SHFH T Di6rey
a. Geumevl b. eyBmed C. Fn@ID d. Guom

135. The pH of 0.01 N'HCl is nearly equal to
a.0.01 b.10 c.1.0 d. 2.0
0.01 N HCl et pH wdliy
a.0.01 b.10 c.1.0 d.2.0

136. All magnetic materials lose their magnetic properties when
a. dipped in water b. dipped in oil
c. brought near a piece of iron d. strongly heated
SMHSHLI OUITBL &6, STHSL Liewienl! 6ILILTIRS EpeESHLD?
e. Hewienifled s emeudbGd CuTH
f. erewiGewiuied cppsd MmeubGHD GuITS)
g. Byl Gummeier BBl OCsmami(h Glaeded GCumg
h. gfsores CaulniuGsaid Gurgl
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137. A frequency of a source is 10 kHz. The frequency of sound wave produced
by it in water and in gas will be
a. 10 kHz b. <10 kHz c.>10kHz d. depending on velocity

a0 @60 cpevdHar FHTOeuewt 10 kHz. mfleobd, eumujeiaid oi@1 2 Haumd@d @60
Slemeouller &8 TGleuewT

a.10kHz b.<10kHz c.>10kHz d. HewsBaussmaddF FihEI DTHBID
138. A ray is incident at an angle 52° on a mirror. The angle between normal

and reflected ray is

a. 90° b. 52° c. 38° d. 76°

uGasHT @b dewiewimguie 1Bz 52°  GCatawigHed  allipamal.  e1HOrTeiliys
BH(HIGWD, CFHIGHHHGHD SevL L’ L GHmemnild
a. 90° b. 52° c. 38° d. 76°

139. Metal pipes used to carry water sometimes burst in the winter because
a. metal contracts more than water
b. water expands when it freezes
c. outside of the pipe expands more than inside
d. inside of the pipe contracts more than outside
BT utd o Geunadsd GHWTUl GeliieTeugHle0 v Fowlb GCeUQLILIGHET SHTT6uwILD
a. pewy el o Georsld F(HHIGHMUDTEV
b. BT 2 _empub. Curg alfleiem aiHTed
c. Oeuefiys o Geviall LGS, 2 sl uGHow ol SiFHswrs alfleusm aughmed
d. 2 lys o Geurall 1GH, Caeiiis uGHow el HHBLOTE S(HEIGISTED

140. If a body is charged by rubbing it, its weight
a. may slightly increase or slightly decrease
b. increases slightly
c. decreases slightly

d.

remains constant
M Gummenmeig CaHUIILSET cpeold LG L LILGHBEH. DISH6T 6Tenl

a. Ffmpeney 9FHaNEHCuT D06V FHene) GHewpwGeur GFUIUD
b. fAfzene oiFsMNHEG0D
c. dfipene| GmBuid
d. s
141. A man invests a certain sum of money at 6% p.a. S.I. and another sum at

7% p.a. S.I. His income from interest after 2 years was Rs.354. One-fourth of the
first sum is equal to one-fifth of the second sum. The total sum invested was
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a. Rs.2,700 b. Rs.2,800 c. Rs.2,900 d. Rs.3,000

RHAUT @ GPUI LS QFHTensmul Semihedd 6% Helallly aihsHdleid, BB
OpTaEmW  eiheGH 7% Sefaly eiHsHeid  (WwHeSH CFudsrt.  yewi(h
AWBHEHSHGSL  LIBEG, DUHHEG Ul (LPeOTS (H.354 eU(HLTID S SHBG.

(PH6EV (IPSHeVL 1960 Y4 1DLMIG, BJeniLTeudl (LPFHedL 196D éLDI_Fﬁlaﬁg'}@ FI0D, 6160N60 SIeUT
WHedh CFu1sH CTHH CHTmSH

a. @5.2,700 b. e5.2,800 C. ¢5.2,900 d. 3,000

142. A sum of money placed at C.I. doubles itself in 5 years. It will amount to
eight times itself at the same rate of interest in years
a.b b.10 c. 15 d. 20

@ OaTemsdemw Fal (h euliguied (WHellh OCFUISHTD 5 SewIhEHaTed E)(h LOLRISTSHBSH.
DIF 1HHme SLewIhHeNed, DIBH ey aiHHH6L 61 (h DL MISTEGHLD?

a.b b. 10 c. 15 d. 20

143. The percentage increase in the area of a rectangle, if each of its sides is
increased by 20% is
a.40% b. 42% c. 44% d. 46%

R  OCFaasshdHar  udbsnider 20% SHBASBIULTD, DHST UTLL  61HHM6T
al(pSHHTH DI BIMeEGHLD?
a. 40% b. 42% c.44% d. 46%

144. A sum of Rs:312 was divided among 100 boys and girls in such a way that
each boy gets Rs.3.60 and each girl gets Rs.2.40. The number of girls is

a. 35 b. 40 c. 60 d. 65

.312 &g 100 wrewied, Tewialseflen G @h WTewIaIISG (@5.3.601D b LoTewIalSHE,
h.2.400 SlewLH@GLbLy URFIL LIUGSHBEI. 61660 LoTentalserlel 6166wl dhend

a. 35 b. 40 c. 60 d. 65

145 b1 + L1 + ! =is equal to
" -8 BT Ni-6 Vo5 s-a 1
a.0 b.% c.1 d.5

1 1 1 1 1
-8 BT 76 o5 54
a.0 b.% c. 1 d.5

Explanation:
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1 GV 1 BV 1 (e 1 (64s) 1 (54
W9-V8) 9+8) (B—T) (B+VT) (T-V6) (T+6) (6-5) (J6+5) (5-4) (5+V4)

- (*/§+*/§)_(\/§+\/7)+(\/7+\/5)_(«/5+«/§)+(\/§+\/Z)

9-9) 8&=7) (7-6) (6-5) (5-4)

= (9 +V8) = (VB+VT)+ (T +46) - (6 +/5)+ (5 +/4) = o +V4) =3+2=5

146. If the perimeter of an isosceles right triangle is (6+3v2) m, then the area of
the triangle is
a.4.5m? b. 5.4m? c. 9m?2 d. 81 m?
Qm BOwm souss CFmGstan (psCETaNSHeT SbBeTa (6+3v2) IS, aelsd Sige
LITLILIGNGY
a. 4.5 12 b. 54 82 c. 9 uf? d. 81 12

147. The greatest number that will divide 43, 91 and 183 so as to leave the same
remainder in each case is
a.4 b.7 c.9 d. 13

43, 91 1oBmID eTem 183 elewidemen UGHHGOUTH HlewLSHGW BFH FLoWTE E(HLILT60
BMUBM6NT AUGHHGHD Fnlgul OSIIGLITUT 6T600T

a. 4 b.7 c.9 d.13
148. If a+b+c=13,a>+b>+c?>=69, then ab + bc + ca is
a.-50 ba50 c. 69 d.75
a+b+c=13,a* +b* +c* =69 aieiev ab+ bc + ca
a.-50 b. 50 c. 69 d.75
149. 4°' +4% +4% +4* is divisible by
a.9 b. 10 c.11 d.12
481 4 492 4 463 4 464 ) mj@a'aaséaafnlgu_l 6T6usT
a.9 b. 10 c.11 d.12

Explanation: 4 +4%+4% +4% =4%(1+4+4% +4°) =4 x85=4"%340, which is clearly
divisible by 10.

150. If x is positive and different from 1, then L
a. 1 b.2 c.>2 d.<2 ’
X 9 D08 aeiasah, o@EHBE Goumur G SEIIET x+- & i
a. 1 b.2 c.>2 d.<2 '
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SOCIAL SCIENCE
PART - IV
SECTION - B

91. The floating micro-organisms are normally known as

a. Benthos b. Coral reefs

c. Plankton d. Nekton

&6V GHSHHamgul 05 Hlewieniwl o uliflermisenern 616315 GmLD.
a. QubsTerd b. W s e c. e 6ot d. GméLmes

92. The city developed with temple as its centre is

a. Chennai b. Thanjavur
c. Vellore d. Madurai
Gamullemwev ewWILTS CBTewIB eUETTFFUIDLIDSH HBFLD
a. OFaTenen b. sehaTeyT c. Gougyri d. gieny
93. The most important need for every industry is
a. fuel b. transport c. capital d. labour
Cambevasmismen Buibs@d 2 ulfibry  eleriLBhealg)
a. enflgsg) b. Cumres@earhal €. peuSHeD d. uewilwim’ seit

94. Which type of structure describes Weber theory of industrial location?

a. circle b. square c. triangle d. rectangle

Ceouuflelr Q@ mPevs lemwall. CHTLLTH 6hFH DIWOLINL DIQUILIHL WITHS C\BTewT(H
allendb sl (BeiTerng)?

a. LD b. s c. (p&Baxsmewid  d. GFeileusid

95. The trade occurs within the limits of a country is called

a. internal trade b. rural trade
c. international trade d. local trade
Q(H BTLIQET 61606M6VSHE6IT [HIBLDSIGIM 611601 BHLD

a. o 6NMpBTL.(H 6uewiHLD b. ey euemisid
C. LG (B cuenflsid d. s euewfllsid

96. The pioneer to form Indian National flag was

a. Gandhiji b. Jawaharlal Nehru

c. Thillaiaadi Valliammai d. Dr. Muthulakshmi Reddy
OphaHw Cxhdlws Gamyamw o (HaUTHGaSBEG (WAICaITUITSES HBLDHSHeUT
a. BMHBHUNGHET b. maiamiteored GpH

C. Flevemeuwlmy eueiTelwIbenLo d. Dr. w&a1060 &l Qg
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97. The great social reformer from Kerala is

a. Sree Narayana Guru b. Vivekananda

c. Dayanand Saraswati d. Ramalinga Adigal
Carensgled UspOLBB &ips FHHHSaTH

a. WJBIJTweT @ b. «lGausmenhsiT

C. BHUMATHS FJeroald) d. @ymoedmis 9B

98. Lotus symbolizes
a. smell b. beauty c. unity d. colour
SO 6160H 2 (HeUuSLILIBHHHISBSHI?
a. LDENTHMD b. supmas C. @PMBEWIGNLD d. PssHms

99. A permanent standing army was organized by
a. Nasiruddin Khusrao Sha b.Jalaluddin Khilji
c. Jalaluddin Firoz Khilji d."Alauddin Khilji
BIIHSTIOTST (hH OLIHD LDl enUl 2 (HeUTHSIUIGUT
a. HeIT-2_ 536G 6er(HAT b. smeoreuger @Hleved
C. 26UTEISET-GILIGTTErD &levgd d. s ST Fevgd

100. A 1500 year old unrusted iron pillar is located in

a. Mehrauli b. Assam c. Kalinga d. Nepal
1500 SLewwiBHeMTUI HIHLILNIQSHSTIOE0 BHBGWD SHIDLSHITw 2 66 G LD
a. Qwasrel b &ierderomid C. SH6UIMmIBLD d. Gpumemd

101.Ellora was occupied by{(during A. D. 742)

a. Dhruva b. Badami

c. Dantidurga d. Kirtivarman - II

e1e0Geumgmemeud emaLLmMluieuT (&L, 74260)

a. FI(HeUesT b. usmo C. HHHHITHT d. @yewiLmb &iTHdauTioes
102. The greatest Telugu poet was

a. Kalidasa b. Ramabhadra

c. Bhaskara d. Alurikuppanna

Fvhsy 0HIMEG SalehITs allenmigsluieu

a. FreM e b. gmougiyit C. UM d. siepisgliue

103. The empire developed into an independent kingdom under Alivardi Khan was
a. Karnataka b. Bengal

c. Hyderabad d. Pondicherry
ST H BT FHHHTU CUITaTas o (HeuThswig
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a. SMBIL&LD b. eumismend c. wamsyTursd  d. umewtgFGa

104. The religion which reached the zenith after the 6t Century is

a. Jainism b. Buddhism c. Hinduism d. Sikhism
&.(1p. 691D BHIBBTENNYSHGL L6l 0FevauTdhE GUBM LDSHLD
a. Fewl LDHLD b. uss WD
C. Gougp emeuglsd euHEMITHTID OFHLD d. e s
105. Ashoka’s messages inscribed on the rocks are written in
a. Kharoshthi b. Prakrit c. Greek d. Sanskrit
SI8gnaT omleyeny CUTBSSILL L Ou(hHbUTeTeT H606eIL (HHeled 61IpHLILL L GLoTL
a. sCymervg) b. Wy msib c. &Cyébamid d. Fweddmsib
106. ASEAN was established in
a. 1947 b. 1957 c. 1967 d. 1977
OHeIBIpSHTFW gl Lenwli] CaHmmmielsslill . e6mi(h
a. 1947 b. 1957 c. 1967 d. 1977

107. The world communication revolution is considered as the

a. first wave b. second wave

c. third wave d. fourth wave

CaTLTY Yl dwneigdl 2 60&le0 Blsbnhs  LUjl Fsellsd Qeieummrs SHienpsslLbaSng?
a. (IpFHeL N6V b. @yewiLmb Siemev

C. CLPGIBTD SIEN6V d. pISIHTD Slenev

108. The world’s first satellite waslaunched in

a. 1947 b. 1937 c. 1957 d. 1967
® &I (PHev CFWBend Camelt 60 UL L )
a. 1947 b. 1937 c. 1957 d. 1967
109. The source of energy to the world is
a. sun b. land c. water d. wind
® GUEHI HLBMEL 66D
a. @flwesr b. Bleud C. [ d. smm
110. Air Survey Company located in
a. Delhi b. Kolkata c. Chennai d. Hyderabad
QUTEITUIGY FHIGLD DIENLOHSHIETN LIGHS
a. Ols0ed b. GameashsT  C. QFaiened d. emamsyTUTs

111. The scholars adorned the court of Krishnadevaraya were
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a. Ashtadiggajas b. Navaratnas

c. Paramarthas d. Alwars
smagent CheaugmwiT iemeuuled HHSH DINSlEhTH6N

a. SIOIL FHHHWMIB6I b. peuysHemisein
C. LIJIDTTSHSHTHET d. supauniTser

112. The sailor who came up to the southern most tip of Africa was

a. Vasco da Gama b. Henry the Navigator

c. Columbus d. Bartholomeu Diaz
WHETI(PHeVIe0 SlifldsTaled CHICHMTY (LpenasTenul 6UhHSHML [HH6T?
a. GUTerVGSTL SHLOTSIT b. wreill Gane

C. QBmeuIDLIGID d. unirgaGeomOGuImL uwierd

113. The Kailasanatha temple built by Krishna I was at

a. Ajanta b. Bombay c. Gujarat d. Ellora
(PSHEOTLD F(HOReTel MBHeLTF BTHT Camulensy &L 19 B LD
a. QIMbSHT b. wbumu’ C. GBMYUTSH d.” er60Geurym
114. The “Zabti’ system was introduced by
a. Akbar b. Sher Shah C. Aurangzeb d. Vasir
‘B’ popomwl SfsILGSS el
a. 9IBLIT b. Gagiragr C. QeMmBIBSLI d. eud

115. The sites of old stone age in India are

a. Sivaleri b. Attitampakkam c. Humpi d. Vaisali

LMWLl SMEHTeV L0SHH6T BbhSHWmaled aumphs S mG6aTe0 eaiml

a. FeuBevrfl b. @B rbumésd c. amibLi d. eweusned
116. The last Governor General and the first Viceroy of India was

a. Lord Ripon b. Lord Canning

c. Lord Curzon d. Lord Lytton

@phHwneler HenLd SLEHBT LOBBID (LPH60 MeUFIFTUl

a. Miuesr gy b. smreimiiyy C. &itger Ly d. O Lem yy

117.Bharatanatyam came to be developed during the period of

a. Cholas b. Cheras c. Pandiyas d. Pallavas
UFSHTL g CHTeIlul Hm6evLD
a. Gampf b. Gayir C. UITGUoTIQUIT d. uebeveur

118. The mother of Vardhamana was
a. Yashoda b. Yashodhara c. Meera d. Trisala
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QTS HLomeonfledt SHTwImT

w. w@ansm 9. wWGsngmHemy o . 15y ot Hiflgemev

119.The diamond throne was given of Lord Ranganatha at Sri Rangam by

a. Achutappa Nayak b. Vijaya Kumara Nayak
c. Thimmappa Nayak d. Sevappa Nayak
fIRIS JTRISHTSH SFUTOSHE MeUTFIDIOTFID 6ULDRISIUIGUT
W. DIFSHSLIL BTUISST 19. QIQUIGLOTT HTWSHSHT
® . S BTUISST er. Ggeulil BTUISHST

120. Virapandiya Kattabomman became a poligar in

a. 1761 A.D. b.1790 A.D. c. 1795 A.D. d. 1767 A.D.

alyuTeRTgUl &L L QUITIDLDGST LITen6TUISSTTT L6 S601(H

a. &.. 1761 b. &.d. 1790 c. &l 1795 d. .. 1767
121. The Constitution of India came into force on

a.26th January, 1950 b. 15t August, 1947

c. 26t January, 1947 d. 15t August, 1945

OphHW DFFluieventolil] HeOL (WenBHEG 6UbhSH Dhewi(h

a. 26 eauf, 1950 b. 15 &y®edB, 1947

C. 26 sgemeufl, 1947 d. 15 symev®, 1945

122. The term of the Legislative Assembly of Jammu and Kashmir is

a. 6 years b. 5 years c. 7 years d. 4 years
D LOBBID HTOJMST. oTHevHHeT FU L LIGUFmeuula LIGHaNsSTeuld
a. 6 ETHBH6 b. 5 eyemibser C. 7 opewihder  d. 4 EWIBHET

123.Local self Government was introduced by
a. Lord Ripon b Gandhiji c. Indira Gandhi d. Rajiv Gandhi
OphHwmaled BdHaTevHH0 CFUBLBLD 2 6Tenml & iemLolImL (PHeT (LHFHede0
HEOL_(LPenBLILIB S ULIeUT

a. Mouer gy b. ampHugser c. @pFHrmarhd  d. greleisnhs)
124.In which year did the Government announce the National Population Policy?

a. February 2000 b. January 2001

c. August 1999 d. October 2002

Bxpdlw o6l OFHTeNdH OFTeTnHmU BHHUW DFFTRSD DPlaldhs SLewH{H

a. tlgeurfl, 2000 b. meeufl, 2001

C. oLHeB, 1999 d. &&6Lmum, 2002

125.Centrally administered areas are
a. Cantonment Boards b. Town Area Committees
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c. Notified Area Committees d. Townships
oWl SIFler HITaUTeSHMGSLULL LGS H6T
a. Quremieud gnl eumflumigel b. Bay eeOemeLLILIGS

c. GUYULILL eTe0emeulILGE (& (DSHD6IT d. mefwi

126. Which year is taken as the base year in India to estimate the National Income at
constant prices?

a.1993 - 94 b. 1980 - 81 c.1970 - 71 d. 1960 - 61

obdH DLEWIeNL DIQLILIDL. WL THS OdTeni(h BbHwmaled Bleneowlmer alleneouled
BTL(B QUHLOTEID SHeidbdIL LILBSBEH?

a. 1993 - 94 b. 1980 - 81 c.1970 - 71 d. 1960 - 61
127.”"Money is that which does” This is defined by

a. Crowther b. Irving Fisher c. Walker d. Shapiro

‘LewTd  eTenHGWIeveVTD OFUIL 6ueLEVEHT SIHIGe LIGHTID GUEDTUIBIS HEUT

a. FOTenGHHT b. @maim . . NeagT C. QUTHSBT d. smiaGym
128.In which year was the National Policy on Education (NPE) formulated?

a. 1981 b. 1986 c. 1985 d. 1984

Cxrdlw ®eLald OFBTeTnsd 2 (HeUTHSULLL  DL6wIH

a. 1981 b. 1986 c. 1985 d. 1984
129.The concept ‘Division Of Labour’ was introduced by

a. Adam Smith b.-Alfred Marshall

c. J. M. Keynes d. Samuelson

‘CouemevLIG LI (LpeHMB’ 6T B(HSHM S DIMI(LPSLILB SIS WIeUT

a. &yl 1beroilg b. oieo. .05 rTaged c. J.M. &aiterd d. arupGeicva e
130. The duration of 11t Five Year Plan is

a. 2007 - 2012 b. 2002 - 2007

c. 2012 - 2017 d. 1997 - 2002

uFHCeormymd WHFHTWI(HSH S L& HT6VLD

a. 2007 - 2012 b. 2002 - 2007

c. 2012 - 2017 d. 1997 - 2002
131.Theriver basinsare __ per cent of the total geographical area in the world

a. 40 b. 50 c. 60 d. 70

® eudlell GIoTgHS Hlevliugrifed Al(pHHTH MBI AUQHIEVRIBETS 2 6IT6T60T.

a. 40 b. 50 c. 60 d. 70

132. Waterborne disease is
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a. Cholera b. Leprosy c. Yellow fever d. Malaria
BT &b eurmb GComul
a. SIeoyT b. GamugGmmul C. LDGHFGIT &IJID d. wGeoflwir

133.The largest continent in the world is

a. Africa b. Asia c. North America d. Europe

2 eudlel WslGUMw &eurL LD

a. oifléasm b. ofwr C. oL 9GwMoBasT d. Gymim
134.Which planet is called a snowball?

a. Earth b. Saturn c. Mars d. Pluto

uILILbS 6160 DIEMPSBLILGBLD CHmel

a. yuo b. &l c. GFaieumul d. yem G
135.Molten Rock in underground is called

a. Magma b. Lava

c. Igneous rock d. Sedimentary rock

vol @UioBg 6 BBoHGL UTodBS G

a. LDm&Lom b. eomeur c. Suurens d. ugeiuTenm

136.The 44th Amendment Act, 1978 abolished

a. Right to property b: Right to equality
c. Right to freedom d. Right to freedom of religion
1978 b oemi(h 44-6ug SFFwevemolIF FLUL SHFH(hHHSHIHeg BHaILULL o flenw
a. QargHaifento b. FwsHzen o Meno
C. &FHbATHH BB 2. Mewid d. s asbdrsHBsrar o Meno
137. Permanent number of members in the Security Council of the UNO is
a. 4 b.5 c. 10 d. 15
. b1, uTgIsTiY Cuyemeuuied BIHEHT 2 miliilerTaeren o6 enllsHma
a. 4 b.5 c. 10 d. 15

138.Human Rights day is observed on

a. December 10 b. December 14

c. December 20 d. December 24

weld 2 Menwser SHelbd S LILNgSHSUILGBD [HT6l

a. &IuT 10 b. w&buT 14 C. 19&Ibuim 20 d. &bur 24

139.India 2020 - A Vision for New Millennium (1988) was Written by
a. Indira Gandhi b. L. K. Advani
c. Manmohan Singh d. Abdul Kalam
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‘BbhHwT-2020 yHw HIBBTEUIBSTE @(hH UTTenel (1998)° 6B LHHIHMS
eT(LD&WIeuT
a. BphAHTETHS b. LK. &iseures

C. WeIGrseidml d. om0 SevTD

140.Republic Day is observed on

a. 26th December b. 26t February

c. 26t November d. 26t January

Glwrs FHenbd SieFfessluBL HTel

a. 26 1QFbuT b. 26 iyeuf C. 26 [HEUDLIT d. 26 eeurl

141. Currency with the public is known as

d. Ml b Mz C. M3 d M4
QuTgl 1éHHIILID 2 6ol L|IpdhHLI LIGWID 6T6TLISI
d. M1 b Mz C. M3 d M4
142. There exists a direct relationship between
a. Price and Demand b. Priceand Supply
c. Price and Income d. Price and Tax
SeupPiBslen, G Crry o me| sTeauTULBEBEI?
a. alewev BBID ChHeweu b. alewev BBID Siefliy
C. aled60 OBHBID GUHLOTEILD d. afemev BBID eur

143.Equilibrium price equalizes

a. Demand and supply b. Demand and Income

c. Supply and Production d. Demand and utility

OB allenev &S 6L UBMBIT 61&HMeT FLOGILIBHSHSHISBHI?

a. Gxemau BBID ey b. Gxemeu WBBID GITHLOTEILD

C. oMy wLBEBID 2 _BUSH d. Cxpeweu BMID LWISTLTH
144. The changing agent of the society is

a. Consumer b. Entrepreneur

c. Labourer d. Distributor

FPSTWID LOTHHD SHTEID  (LP&H6UT

a. mIsTCeuT b. Gsmied (wenerGeurit

C. 2 emLpLILIT6T d. elelGuirsedgT

145.Red tapism and corruption lead to
a. inefficiency of production b. inequality of income and wealth

c. absence of technology d. efficient use of resources
Ggleuter Geauemeou|d, M&BULL BLD SLDSHHENILUBBIGT 61HMBE STITNIOTS alemmiGHHBH?
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a. 2 BusHHUWIST HBMIDS (FHHB6
b. auprend wBBID GFaSHHN gBBSH HTD6]
C. QxmPed HI LibleTenLo
d. cuenmiBenend HBDOWITS LIWLIGTLIGSHIHIH60

146. Which is the simplest of all cycles?

a. Nitrogen cycle b. Carbon cycle

c. Phosphorus cycle d. Water cycle

goBd BQuisamsaiGelu eeaflenwimeig)

a. bl IeRer &Eond b. asniuer &pBd

C. umeroLgerd &pme d. 7 swoBd
147.How many layers does the atmosphere consist?

a.5 b.7 c.6 d.9

QUAITILDERIL 0SS0 2 61T DI(HE:EH BV  6T6I016001 6N

a.b b.7 c.6 d. 9
148. A typical gyre displays types of currents

a. three b. four C. six d. five

QRH GeVleL o eiterm HETTL L mISeNT

a. cpaIm b. mreg C. oWl d. skl
149. The broadcasting earth ecosystem is

a. hydrosphere b. lithosphere

c. biosphere d. atmosphere

yeiuwllesr esiuyhs GRESTSS)

a. praGsmend b. uremmEGsmend

c. o _ulreGsmenid d. eurwsGsmenid

150. The highest plateau of the world is

a. Deccan b. Colorado c. Tibet d. Malwa
o 6085BeBw s o uwiyomer LI Lo
a. HHBTEILD b. Ga&meoymGLT c. HOus d. wmemeud

Remaining Keys Will be updated soon.
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